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I- Read the following text then do the tasks below:

I11- Read the following text then do the tasks below:

The European coffee houses of the early 1650s
were mainly for businessmen, writers, politicians and
scientists. Like today’s websites, coffee houses were
exciting places to be, but you could never be sure that
information you found there was accurate. In the early
days, only men went to coffee houses because people
thought that coffee was bad for women’s health. In
Ethiopia , People chewed the beans. From there, it
spread to Arab countries, where it soon became very
popular as a drink. People liked it because it had an
interesting taste and gave them more energy when they
felt sleepy. Pasqua Rosee, who was from Smyrna, in
Turkey opened the first coffee house in London in
1652. Coffee was an immediate success and large
numbers of coffee houses opened. They became the
centre of social life in London. The servants of
important men went from one coffee house to another,
and passed on the latest news stories about what
politicians were doing or what was happening on the
other side of the world.

Answer the following guestions: (18 marks)

1.Why did only men go to coffee houses in the early days ?
2. Who opened the first coffee house in London?
3.What did the servants of important men do ?

Find words in the text which mean the following:
(10 marks)

4. correct , truthful

5. move from place to another

Rewrite these sentences about the text to correct the
information: (12 marks)

6. The European coffee houses of the early 1650s were
for all people .
7. coffee made people felt sleepy.

These solar energy-trapping gases are called
Greenhouse Gases. Water vapour, carbon dioxide and
methane are some of the Greenhouse Gases. Human
activities that increase the level of Greenhouse Gases
in the atmosphere may be warming Earth’s atmosphere.
The burning of coal, oil and natural gases in power
stations, and the burning of fuel in traditional
vehicles, releases large amounts of Greenhouse Gases
into the air. Deforestation means that trees that would
normally absorb carbon dioxide cannot remove it
from atmosphere. If the increased carbon dioxide
means more heat is trapped, the result will be global
warming: a gradual increase in the temperature of the
atmosphere of Earth. The amount of carbon dioxide in
the atmosphere has been steadily increasing. Between
1900 and 2000, global carbon dioxide emissions went
from 2 billion to 24 billion tons. parks, they cannot be
used for housing or agriculture.

Choose the correct answera,borc: (12marks)
8. Human activities ........... the level of Greenhouse
Gases in the atmosphere
a. destroy b. decrease C. grow
9. Deforestation means that trees cannot ......... carbon
dioxide from atmosphere.
a.take away  b. prevent c. allow

Match two of the underlined words from the text to
the definitions below: (12marks)

10. to take something in.

11. mass of very small drops of liquid, which float in the
air or atmospher

Complete the following sentences with information

from the text: (12 marks)

12.The burning of coal, oil and natural gases

in power stations ............coceviiiiiininnnn
13. global warming will be the result if




111- Complete the following sentences by filling in

VI1I- Complete the following sentences using clauses:

the gaps: (18 marks)
14 Talaa arrived home ......... found that she didn’t
15.have her door key. Nobody was....... home. She sat
16.and waited for her parents to come home ...... hour
later!.

IV-Fill in the spaces with words from the list. Use
each word once only: (24 marks)

risen, man, activity, average, natural

17. Over the last 120 years, the ........ temperature of the
18. troposphere has ...... by about 0.5 degrees Celsius.
19. Was this increase because of .......... variations, or
20. was it caused by human........... ? What effects

could higher temperatures have?

V- Complete the following dialogue by writing
suitable questions or answers. Write at least three

words for each gquestion: (32 marks)

21, ZBINQA: .ot ?
Rema: | went to Nepal on my last holiday.

22. ZBINA: tevuineinrnrnerasnrnesasnssesasnssssnsnssimmn ?
Rema: | spent five days there.

23. ZBINA: tevuineinrninennrnriesasnrsesnsnssssnsnsnsimmn ?

Rema: The trip was fantastic.
Zeina: What did you like most in Nepal?
Rema: ...

24,

VI- Rewrite the following sentences as required in
brackets: ( 32marks)

25. More people drink tea than either coffee or cocoa.
( Make passive voice)

26. The Galla people in Ethiopia ate coffee beans for
energy.
( Make passive voice)

27. 1 am in charge of the football stadium. I allow
people to watch the matches for free.
(Use second conditional )

28. Ali lost his watch, so he missed the start of the film.
(' Use third conditional )

(14 marks)
29. Assoonas | Woke up, .......ccoovvvieiiiiiinininnn.s
30. | didn't travel to Damascus because .................

VI111- Choose the correct words in brackets:
(18 marks)

31. The children were very ( frightened , terrified )
during the storm. .
32. There is a great ( different, difference) in
temperature between Africa and Europe.
33. We couldn’t see a thing when the lights

(went out , went on ).

IX- Correct the verbs in brackets: ( 18 marks)

34. Cherry Blossom ( mark) the beginning of spring.
35. Two years ago. | (break ) my leg.

36. By the time | went to bed ,I ( send ) an email to my
friend.

X- Translation:
Translate the following sentence into Arabic:
(10 marks)

37.Earth’s atmosphere is the layer of gases that
surrounds the planet which makes Earth suitable for life

Translate the following sentence into English:

(8 marks)
38. lginanl dlilad) 3885 | allad) elad) Gy A,
XI- Composition: (50 marks)

Write a composition of no less than 80 words on the
following topic

Write an informal invitation to a family occasion

Best wishes
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